




:حل 



𝟐 × 𝟔𝟎𝟎 = 𝟏𝟐𝟎𝟎

𝟓 × 𝟔𝟎𝟎 = 𝟑𝟎𝟎𝟎

𝟒 × 𝟔𝟎𝟎 = 𝟐𝟒𝟎𝟎

𝟑𝟎𝟎𝟎𝟎 − 𝟐𝟒𝟎𝟎 = 𝟐𝟕𝟔𝟎𝟎

𝟑𝟎𝟎𝟎𝟎 ÷ 𝟐 = 𝟏𝟓𝟎𝟎𝟎𝟓 × 𝟑𝟎𝟎𝟎 = 𝟏𝟓𝟎𝟎𝟎
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یک برابر

𝟑𝟎𝟎% سه برابر



𝟒𝟒 ÷ 𝟒 = 𝟏𝟏

𝟑𝟎𝟎𝟎𝟎 ÷ 𝟑 = 𝟏𝟎𝟎𝟎𝟎

𝟏𝟔𝟎 ÷ 𝟖 = 𝟐𝟎



𝟗:حل  ÷ 𝟏𝟎

𝟗𝟎%

𝟓 ÷ 𝟖= 𝟎/𝟗 = 𝟎/𝟔𝟐𝟓

𝟔𝟐/𝟓%

𝟔 ÷ 𝟕 ≈ 𝟎/𝟖𝟓𝟕

𝟖𝟓/𝟕%

𝟐𝟎 ÷ 𝟐𝟓 = 𝟎/𝟖

𝟖𝟎%



𝟕 ÷ 𝟗 ≅ 𝟎/𝟕𝟖𝟕𝟖%

𝟕 ÷ 𝟏𝟎 = 𝟎/𝟕
𝟕𝟎%

𝟐𝟎 ÷ 𝟐𝟓 = 𝟎/𝟖

𝟖𝟎%
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𝟐 × 𝟕𝟕𝟎 = 𝟏𝟓𝟒𝟎 𝟏𝟓𝟒𝟎 ÷ 𝟏𝟎 = 𝟏𝟓𝟒

𝟕𝟕𝟎 ÷ 𝟕 = 𝟏𝟏𝟏𝟓𝟒 ÷ 𝟐 = 𝟕𝟕

𝟏𝟓𝟒 × 𝟐 = 𝟑𝟎𝟖𝟏𝟓𝟒 × 𝟑 = 𝟒𝟔𝟐













𝟎/𝟐

𝟏𝟎𝟎
=

𝟐

𝟏𝟎𝟎𝟎
= 𝟎/𝟎𝟎𝟐

𝟎/𝟎𝟎𝟐 × 𝟑𝟎𝟎𝟎𝟎𝟎𝟎

𝟓

𝟒𝟎𝟎𝟎
= 𝟎/𝟎𝟎𝟏𝟐𝟓

𝟏𝟎𝟎 × 𝟎/𝟎𝟎𝟏𝟐𝟓 = 𝟎/𝟏𝟐𝟓%

𝟏𝟒𝟎

𝟏𝟎𝟎
× 𝟒𝟎𝟎 = 𝟓𝟔𝟎

= 𝟔𝟎𝟎𝟎

𝟏𝟒𝟎

𝟏𝟎𝟎
= 𝟏/𝟒

𝟏/𝟒 × 𝟒𝟎𝟎 = 𝟓𝟔𝟎

:روش دوم



2

3
× 24 = 𝟏𝟔

𝟑𝟎

𝟏𝟎𝟎
× 𝟑𝟔 = 𝟏𝟎/𝟖

𝒂

𝟏𝟎𝟎
× 𝑿 = 𝒀
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مالیات حقوق علی 
𝟕

𝟏𝟎𝟎
× 𝟏𝟖𝟎𝟎𝟎𝟎𝟎 = 𝟏𝟐𝟔𝟎𝟎𝟎

مبلغ دریافتی حقوق علی  𝟏𝟖𝟎𝟎𝟎𝟎𝟎 − 𝟏𝟐𝟔𝟎𝟎𝟎= 𝟏𝟔𝟕𝟒𝟎𝟎𝟎

. حقوق احمد بیشتر است
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𝟎/𝟕 =
𝟕
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𝟎/𝟕% =
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ثانویه اولیه

اولیه



.نست تغییر به صورت زیر بیان می می شود





منفیدرصد با علامت 
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هزار تومان50

هزار تومان200
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پایان پودمان دوم


